[ 1] 5 17 W & [EEailme —gee ALl B AL

BEIEEE 382 B £ BRIBE
£ smmmires HEET  =TE FEMHE 21,032,000
RS BRERM B (19,120,000 )
& %0049 F REREEHYGRERUVHMBEAX
AHBIA SH6E6F12H  9ER00% E z= X % ﬁ%%%gﬁ%%ﬁﬂ -
B 32 I BRIEEHEETST B 24 & M)
1497 ERRAE (%) 8 B B /R BEEE 249E HH BT 19,910,000 M
wE A SH6FE5H22H 201
% v A L AL T EAFL2
1| E PR E (BF) Ik B = R 18,100,000 EARTESE




[2] & 17 W &= [EEailime e ALl B AL

BHIEEE 402 B £ BRIBE
BHERS MEERZTES FEHGPT BT FEM#H 67,884,300 M
( 61,713,000 A1)
AHEH 4 £004) F X+ EBETEEECGH)FTFHEERNEHRXFE
LA SFI6E6H128 95004 = £ 3 }%ﬁﬁéﬁgﬁiﬁﬁﬂ -
B I BRI EHEET5T B24% i LSBT M)
1497 ERRAE (%) 8 B B /R BEEE 249E HH BT 64,570,000 [
EE A SF6&E5H22H 201
% v A 7L AL T EAFL2
1| EFE I ZE (BR) I B E ¥R 58,700,000 FLRESR




[ 3] & 17 W &= [eEa il Rer e AFL] [ EE AL

BHIEEE 414 B £ XERKR—VE
FEEE  SXAWE BEET BA3 TN 14,715,800 F
( 13,378,000 M)
AFLEA 4506 1085004 F X% EYVEmBUGtIvIGmEERT#EREA
SH6E6H128 FF00%3 #5 75 T~ }%ﬁﬁ@ﬁﬁxuﬁe)& m
B IFEEZARTARITH76%& D1 AL LA ( )
2379 (H)INIVRK—Y ZARIE BEEE 249E HH BT 14,630,000 M
pGERSINS| SH64E5H22H 460
% a A 7L AEALL 1 HEAFL2

1| (&) BINEE 15,500,000

2| (B)hRABZHZESERR 13,550,000

3| (%) B EEB RAR—Y 13,800,000

4| (B)RIVIRAR—Y ZARE 13,300,000 EARESE




